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Steps of design Two way soild slab.

71 - Choose the thickness of the slab. (ts) (M)
to satisfy the bending moment & deflection considerations.

2- Coalculate the Loads on the Slab (ws) (kN\n'o?).
3 - Calculate rectangularity (7°) & the distribution Factors (a, B)

4 - Take o strip (7.0 m width) at the two directions (0L, B)
and take uniform load on the strip = (OLWs) or (Bws) (kN\m)

and then Get the bending moment (kN.m\m) on the slab.

5 — Design the sections of the strips as a beam subjected

to B.M. only, but with width 1.0 m and depth (ts).
Then get the Reinforcement. (RFT.) (mmz \m)
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Steps of Design.
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@ Calculate Loads on the Slab. (W)

® Calculate the degree of Rectangularity (’)")
& the distribution Factors (O, [3)

Degree of rectangularity. (7") abiJl JUiul Jolos
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Notes.
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Example.
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Note.
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Coalculation of O, B
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@ The Slab rested on Beams. /
Use (C.P. (Code of Practice) 4nlell aJlsJ!
s 7"
“-087_0715 1.0 6sts of 5o
Note. a+B ~ 0.7 Absle

SIS ) cndy ablod) Jas o 5V s o olics 1ia
(Jasdl o o5 ¥ o ) 4ol Jas 430 LI moment JI Gk e
PGk e SISl (] caadyd
1 - Corner Effect of the Slab.
oyl cudy Load J) oo i dos 1 G531 adlie o abodl) o8 ddlie 551
- abull moment a3l Jacs ol Ha9 §S,H31 )

=




@IF L.L.> 5.0 kN\nf (Beams or Walls) Use Grashoff

Use Code Page 6—10 Table 6—2
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@ Take a strip (1.0 m width) at the two Load directions.
and get the B.M. on the Slab.
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